九十五學年度第一學期 線性代數 期中考 (§2.3 ~ §3.4及小考1)  (除填充題外需列計算過程)

學號：                    姓名：                   
1. (10%) 翻譯下列句子：A square matrix is called an upper triangular matrix if all the elements below the main diagonal are zero.

2. (15%) Solve the following system by Gauss-Jordan elimination.
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3. (15%) A square matrix A is said to be nilpotent if Ap= 0 for some positive integer p. The least integer p such that Ap= 0 is called the degree of nilpotency of the matrix. Determine a such that 
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 is nilpotent with degree of nilpotency 3.
4. Let 
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Determine the inverse of A by using 
(a) (10%) the method of Gauss-Jordan elimination.
(b) (10%) the formula for the inverse of a matrix. (Hint: Find the adjoint matrix first.)
5. (10%) A matrix A is said to be antisymmetric if A = At. Prove that the sum of two antisymmetric matrices of the same size is an antisymmetric matrix.

6. (10%) Find the matrix A such that (3At)1 = 
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7.(a) (5%) If 
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 and |A| = 8, compute the determinant 
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(b) (5%) If A and B are 3(3 matrices and |A| = 3, |B| = 2, compute the determinant 
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8. (10%)Let
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 Find the determinant of A.

(背面尚有試題)
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